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T = 9,09 mT = 9,09 m
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km 0+166,89km 0+166,89
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γ = 15,21°γ = 15,21°
B = 0,71 mB = 0,71 m

R = 80 mR = 80 m
L = 21,24 mL = 21,24 m
T = 10,68 mT = 10,68 m

km 0+220,80km 0+220,80
W5W5

γ = 4,43°γ = 4,43°
B = 0,22 mB = 0,22 m

R = 300 mR = 300 m
L = 23,22 mL = 23,22 m
T = 11,61 mT = 11,61 m

km 0+309,51km 0+309,51
W6W6

γ = 12,26°γ = 12,26°
B = 0,46 mB = 0,46 m

R = 80 mR = 80 m
L = 17,11 mL = 17,11 m
T = 8,59 mT = 8,59 m

km 0+332,28km 0+332,28
W7W7

γ = 14,48°γ = 14,48°
B = 0,64 mB = 0,64 m

R = 80 mR = 80 m
L = 20,22 mL = 20,22 m
T = 10,16 mT = 10,16 m

km 0+369,98km 0+369,98
W8W8

γ = 21,91°γ = 21,91°
B = 0,93 mB = 0,93 m

R = 50 mR = 50 m
L = 19,12 mL = 19,12 m
T = 9,68 mT = 9,68 m

km 0+425,94km 0+425,94
W9W9

γ = 18,48°γ = 18,48°
B = 1,05 mB = 1,05 m

R = 80 mR = 80 m
L = 25,81 mL = 25,81 m
T = 13,02 mT = 13,02 m

km 0+491,57km 0+491,57
W10W10

γ = 3,40°γ = 3,40°
B = 0,22 mB = 0,22 m

R = 500 mR = 500 m
L = 29,70 mL = 29,70 m
T = 14,85 mT = 14,85 m

km 0+624,80km 0+624,80
W11W11

γ = 50,59°γ = 50,59°
B = 3,18 mB = 3,18 m

R = 30 mR = 30 m
L = 26,49 mL = 26,49 m
T = 14,18 mT = 14,18 m

km 0+701,16km 0+701,16
W12W12

γ = 10,41°γ = 10,41°
B = 0,22 mB = 0,22 m

R = 120 mR = 120 m
L = 21,80 mL = 21,80 m
T = 10,93 mT = 10,93 m

km 0+751,34km 0+751,34
W13W13

γ = 78,37°γ = 78,37°
B = 5,80 mB = 5,80 m

R = 20 mR = 20 m
L = 27,36 mL = 27,36 m
T = 16,30 mT = 16,30 m

km 0+823,57km 0+823,57
W14W14

γ = 6,22°γ = 6,22°
B = 0,29 mB = 0,29 m

R = 200 mR = 200 m
L = 21,69 mL = 21,69 m
T = 10,86 mT = 10,86 m

km 0+912,54km 0+912,54
W15W15

γ = 5,85°γ = 5,85°
B = 0,52 mB = 0,52 m

R = 400 mR = 400 m
L = 40,85 mL = 40,85 m
T = 20,44 mT = 20,44 m
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